WOODPECKER CNC 

Instructions
Machine size
[image: image1.jpg]



http://www.aliexpress.com/store/1941516 

Installation Instructions
1,the base installation
a) material：

	material
	specification
	Quantity
	Number
	Remark

	aluminum
	240mm
	2
	
	

	aluminum
	220mm
	2
	
	

	Screws
	M5x10
	8
	
	

	Gasket
	M5
	8
	
	

	Slide nut
	M5
	18
	
	

	Corner pieces
	2020
	4
	
	




b) installation：

[image: image2.png]240. 00mm

220. 00mm *




[image: image3.png]




c) Aluminum connection
[image: image4.png]




d) The final results:

Feeling installation was relatively flat, then you can put the screws a little tight, so relatively secure.
[image: image5.png]240. 00mm

220. 00mm






e) Precautions:

Try to find a relatively flat place during installation. Preferably in the tooling stage
Y axis Assembly：

a) material：

	material
	specification
	Quantity
	Number
	Remark

	Optical axis

Support base
	SK8
	4
	
	

	straight line

Optical axis
	240mm
	2
	
	

	Slider
	
	4
	
	

	Nut seat
	
	1
	
	

	mesa
	20100
	1
	
	

	Screws
	M5x10
	18
	
	

	Slide nut
	M5
	10
	
	


b) 
Optical axis seat installation results as shown: Axis spacing 120mm,It can also be adjusted according to your own ideas. Do not tighten the screws, Because you may have to fine-tune.
[image: image6.png]120.00mm

26.00mm





e) Table mounted as shown in figure:

Screw is also not too tight. The direction of the nut seat can be free, and the direction of the slider is as shown in fig..
[image: image7.png]




f) The final result: in the installation, the shaft spacing can be adjusted according to the actual situation.
[image: image8.png]


3，Y axis motor and lead screw assembly
a) material
	material
	Specifications
	Number
	umber
	Remarks

	Motor mounting plate
	
	1
	
	

	Stepper motor
	42
	1
	
	

	Coupling
	
	1
	
	

	Top Wire rod
	M4
	4
	
	

	Wire rod
	218mm
	1
	
	

	Copper nut
	
	1
	
	

	Spring
	
	1
	
	

	Screw
	M5x10
	2
	
	

	Screw
	M3x6
	4
	
	


b)

motor installation instructions: the coupling assembly to the motor, the motor shaft into the coupling 12.5mm, and then the top wire fixation. Install motor on the motor mounting plate, and then install the motor mounting plate on the machine,

Note that the screws on the machine do not tighten,
c)  Screw lever Installation instructions：

[image: image9.png]XY Z ZHEERBRERER
—H | BEENLTNHERED
x.





d)  Screw lever and Coupling installation
[image: image10.png]



The final effect：

[image: image11.png]



Long men frame installation
	material
	Specifications
	Number
	
	Remarks

	aluminum
	220mm
	2
	
	

	aluminum
	200mm
	2
	
	

	Screw
	M5x10
	8
	
	

	Shim
	M 5
	8
	
	

	Slider nut
	M5
	9
	
	

	Corner pieces
	
	4
	
	


a) The final effect：

On the back ,Set aside a nut, as shown in figure. Used to install the control board.[image: image12.jpg]



1， X axis installation
a) materials
	materials
	Specifications
	Number
	
	Remarks

	XZ Component
	
	1
	
	

	Motor mounting plate
	
	1
	
	

	Stepper motor
	42
	1
	
	

	Coupling
	
	1
	
	

	The top Lever
	M4
	4
	
	

	Screw lever
	238mm
	1
	
	

	Copper nut
	M6
	1
	
	

	Spring
	
	1
	
	

	Screw
	M5x10
	10
	
	

	Screw
	M3x6
	4
	
	


b) install XZ components. As shown in the figure, the optical axis of the top support seat edge and aluminum top align, distance between two axes 68mm, installed after asks the X axis around mobile uniform intensity.
[image: image13.png]



c) The final effect：

[image: image14.png]



2， machine assembly
a) materials
	materials
	Specifications
	Number
	
	Remarks

	Screw
	M5x10
	8
	
	

	Shim
	M5
	4
	
	

	Slider nut
	M5
	8
	
	

	Corner pieces
	
	2
	
	

	Diagonal brace
	
	2
	
	


as shown in figure, the Longmen stand off the base of the 6mm, the reason is that such installation can make the center of the main axis of the spindle and Y axis.[image: image15.png]



b) installation support
[image: image16.png]



c) Install control board
[image: image17.jpg]GRBL 0.9)





